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Tell which definition(s), postulate(s),
theorem(s), and operations you used in the
steps for solving for the indicated variable.

a. If m£5=2x—-10 and m£7 = x +15, find x.

b. Find y if m£6 = 4(y — 25) and m/8 = 4.
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Perpendicular Transversal Theorem

3.4 Perpendicular Transversal Theorem In a plane, if a line is
to one of two parallel lines, then it is
to the other.

Example If line a || line b and line a | line t,then line b | line t.

Use a straight edge to illustrate the example.
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Find x and y.

()
x/(8y = 15)°
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Corresponding Angles Postulate

Fill in the blanks.

Corresponding Angles Postulate

If two parallel lines are cut by a , then each pair of
corresponding angles is

Which angles in the figure are congruent?
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In the figure, mZl 1=51. Find the
measures of each angle. Tell which
postulates (or theorems) you used.

a. m«5

b. mzlé
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Parallel Lines and Angle Pair Theorems

3.1 Alternate Interior Angles Theorem If two
parallel lines are cut by a then each pair
of alternate interior angles is . |

Examples N2

3.2 Consecutive Interior Angles Theorem If two
parallel lines are cut by a transversal, then each pair
of consecutive interior angles is

Examples 8

3.3 Alternate Exterior Angles Theorem If two
parallel lines are cut by a transversal, then each pair
of alternate exterior angles is

Examples
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The following diagram represents floor
tiles in Michelle’s house.

If mz£2 =125, find mZ3.

Tell which postulate(s) or theorem(s) you
used in the steps for solving.
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Refer to the diagram to find the angle -

reek Road
measure. Creek Road and Redding lane are S
parallel streets.Tell which postulate(s) or
theorem(s) you used.

A. If mZI =100, find mZ4. B. If m£3 =70, find mZ4.
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Find the indicated variable. Explain your
reasoning.

A lf mZ2=4x+7 and ms£7 =5x —13, find x.

B. Find y if m£5=68 and m£3=3y—-2.




